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ENGLISH VERSION

Instructions : (1) Attempt all questions.

Ju—

(2) All questions carry equal marks.

Clarify the meaning of industrial sociology and discuss

scope.

OR

1 Discuss the ‘Howthorne experiment’ in industrial sociology. 20

2  State the factors encouraging and hindering the industrial 20

process in India.

OR

2 Critize the methods of recruitment of industrial labourers 20

in India.

3  Examine the role of management in industrial bureaucracy. 20

OR

3  What is Industrial Dispute ? Give its causes and impacts. 20

4  (Clarify the meaning of trade union. Give its purposes and

functions.

4  (Clarify the meaning of the labour welfare and discuss the

OR

necessity of labour welfare in India.

5  Write short notes : (any two)

(1)
@)
®3)
(4)
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Guild system
Strike
Importance of the study of industrial sociology

Problems of trade union.

20

20

20

[ 100 ]



